H = 0 A&F AF S & Al
20138 = 20l & LBESH AFOHEH ~ AFOHEH
© AMOHHH
Ho AIDHEHE 29
OAFOH®H AFR E HI (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
284,397 448,415 AN 164,018
H 29 196,333 359,848 N 163,515
AFDR St AFE! | 196,333 359,848 £163,515
syl 29 5,939 5,939 0]
301 LerE A3 5,939 5,939 0
04 IS LSS 5,939 5,939 0
OnEYHl 29 5,439
OF A HI 2,500& *2H »365 1,825
g 29 3,000
PSR- 6,000 x12& 72
A S H| 1,305&3 24 150 392
xA2el X8l (1HA) 150, 000& 11 A&~ 150
OXsgdl 2494l 500
ScletdE 29 64,170 64,170 0
301 AP B A 64,170 64,170 0
05 & -2 - EsSEAS 64,170 64,170 0
Oscl&das24a3a 62,320
Jlgx=¢ 200,000 x19H x12& 45,600
&2 200, 0003 x 19 *200% 7,600
o EFN Y 20,000 19Y »12& x23] 9,120
OoerEgAZ 25,0003 37 23] 1,850
AT AK 2 12,060 12,560 A500
201 LEt2 Y| 3,500 3,500 0
03 #HAFS S HI 3,500 3,500 0
OMAUMESUHSE L ASHA 3,500
301 dEtEAZ 8,560 9,060 A 500
10 AR HI 2 A2 7,560 9,060 A 1,500
OMOAUMESUHSE L ASSHA 2,500
S SHALE A 1,000
oAHolEEUZ 500
O1TAHTE AL 1,000
OFE&HHl 1,000
O0I&(8EE) dMsUs 40,000& =194 760
OJIEFEH AL 800
12 JIEtE &2 1,000 0 1,000
OsYdHI& 1,000
ARAEF=JAAY 50,000 50,000 0]
401 Al HI L 2T 50,000 50,000 0
01 Al Bl 50,000 50,000 0




M AHEH
M AMHE 22
o

S ADHE At Y

= _ — d =
SN -G (SH) - NRAY - BAS e &
OLAZFOIHAAY 50,000
ALOHB! & A2t 2l 64, 164 227,179 A 163,015
101 1218 10,842 10,643 199
YSIEEESETES 10,842 10,643 199
OFRFYZ BAXY 2ARY
60,5403 *5H x11. 1km 3,360
ONYE2H B2 2%
60,540 *3H x15.5km 2,816
OgeiAY oY 38,8802 1% +602 2,333
OEE=2saA% ALS (3T AN S5H)
zal oy 38,8802 +3% 202 2,333
201 L2 | 16.286 14,000 2,286
01 Ak 22l 2,286 0 2,286
OFAS B MEH T AL B S 2,286
02 B2l 14,000 14,000 0
OBZRILHA 8,000
Sk 4,000
OA& B2 bl 2,000
206 TH 2 bl 8,436 8,936 A500
01 HEHI 8,436 8,936 A500
ORABAZAZH W272Y 500
OMNBE X4 8x79 1,000
ogeiAs RFH 6,936
=E 1,785 *3,5002 6,248
e 1,965% *3502 688
307 QI240| ™ 3,600 3,600 0
05 BI2t9IEr 3 3,600 3,600 0
OEESSA% ANLS(AAND, SEH) 203
b 100, 0008 *20H 2 122 2,400
OF A2 H Y| 100,000 *17H & 122 1,200
401 A& HIL SO HI 25,000 190,000 165,000
01 Al 25,000 190,000 165,000
OBIARA HeD| & X2 A 5,000
OBXBA BLTA 20,000
#H2A A 88,064 88,567 £503
o121 2 gyl 26,909 25,927 982
ALOH! o12f 2 ot b| 26,909 25,927 982
101 Q124 | 26,909 25,927 982
03 RIAHAZ 2R 4 26,909 25,927 982
OYLE X (1) 26,909




COAPOH®EH
DA 29 AY|

=]

]l

HO M
02 0

(=}
=]
=

SN HH-S(BN) - MBAY - B il HlnE2
=2s 1,015,740 «122 12,189
&0z 12,188,880% / 12& *400% 4,063
wns=2xl 120,000& =123 1,440
Mz AlH| 130,000& =128 1,560
NEEELRE
6,906 x15A 2t*1.58 =12 1,865
HESOHI(H,F4) 1,015,740& *120% 1,219
o OF 2 &b 55,2473 10 553
2E=(304) 3,540
IEL (R 1) 40,000& 123 480
|23 bl 61,155 62,640 A 1,485
AORE D12 Z 4| 61,155 62,640 A 1,485
201 et 23,275 21,550 1,725
01 At 2teltl 18,775 17,550 1,225
Oz &l 1,200
O8sS=73H gxtz 1,500
OFRY MHE2ZRH 25,0002 115 2,875
O e8| 13,200
02 2=2Z 4l 4,500 4,000 500
O Xttt 4,500
202 OHl 22,800 19,200 3,600
01 = LH YI 1,200 1,200 0
O=0 bl 1,200
02 M| 21,600 18,000 3,600
OEHotl 150,000& x12H 128 21,600
203 YR =] 10,080 10,040 40
022 PR =8| 6,600 6,600 0
O 6,600
02 A H R =X 480 440 40
OISR F= &Y 40,000& x129& 480
04 BENSSHRF=LHI 3,000 3,000 0
ORA2EIRFAHI 250,000 12& 3,000
405 RHoHF S HI 5,000 11,850 A 6,850
01 XL 2 ZFH S| 5,000 11,850 A6,850
OHAIEAx HHE 7 5,000,000& = 1CH 5,000




